Calculer et simplifier :
2
A=(3-5)
A=9-65+5
A=14-645

Calculer et simplifier :
=(245-V2)

B=20-410+2

B=22-410

Calculer et simplifier :

Calculer et simplifier :

:(2J§+J6)2 D=[(\/§+3)—\/§J[(\/§+3)+\/§}
C=8+4\/E+6 D=(\/§+3)2—5
C=14+4/4x3 D=2+6V2+9-5
C=14+83 D=6+612
Calculer et simplifier : Factoriser :

E=|(V6+243)-35 || (Vo +243) +345 | A =9-x*
Ax)=3>-x*

2
=(J3+2J§) _45
E=6+4/18 +12-45

E==27+4J9x2

A(x)=(3-x)(3+x)

E=-27+1242
Factoriser : Factoriser :
B(x)=25x* -9 C(x)=(2x-3)" - x?

B(x)=(5x)* -3?
B(x)=(5x-3)(5x+3)

C(x)=[(2x=3)-x][(2x-3)+x]
C(x)=(2x-3-x)(2x-3+x)
C(x)=(x=3)(3x-3)

Factoriser :
D(x)=4-(2x+1)’
D(x)=22—(2x+1)
D(x)=[2~(2x+1)][2+(2x+1) ]
D(x)=(2-2x-1)(2+2x+1)
D(x)=(-2x+1)(2x+3)

Factoriser :

E(x)=16x" =9 —(3x +1)(4x-3)
E(x)=(4x)" -32 = (3x+1)(4x-3)

E(x) = (4x=3)(4x+3)=(3x+1)(4x-3)
E(x) = (4x=3)[ (4x+3) = (3x+1) ]
E(x)=(4x-3)(4x+3-3x~1)
E(x)=(4x-3)(x+2)




